Word Problems for Subtracting with Regrouping

1. Mateo had 34 puppy treats. He gave 15 to Sofia. How many does Mateo have
now?

2. Mateo had 27 puppy treats. He gave some to Sofia. Now he has 13 puppy treats.
How many did he give to Sofia?

3. Mateo had some puppy treats. He gave 9 to Sofia. Now he has 12 puppy treats
left. How many puppy treats did he have at first?

4. Sofia walked for 24 minutes with her dog. Mateo walked for 9 fewer minutes
than Sofia did. How long did Mateo walk?

5. Sofia knows 37 dog breed names. Mateo knows 19 dog breed names. How
many more dog breed names does Sofia know than Mateo?

6. Sofia went to the pet store and spent some money. Then she gave $12 to
Mateo. Now she has $15 left. How much money did she have at first?
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